Bz @ ® = & ® @ ® ®» ® ® [ @
20° 20° 20° 20°
automatyczn
i afpowetrzaasy g [L261W] t 4 20801) t 4 15420W) 4 t t t 1586[W] t
631 W 631 W 520 W # s20w o sow 520 W # 514w 514w 514 W # 503w 503w & 503w & 529w ® 529w 529 W [
G2.01 G2.02 G2.03 G2.04 G2.05 G2.06 G2.07 G2.08 G2.09 G2.10 G2.11 G2.12 _I\_.. G2.13 G2.14 G2.15
[(eo] JJan]  [es] _]les] [Jes] [esxl[|lev] [JTes] [eo] [[{an] [euc] | [ee]][{as] [Tau] [as]_
| | | | | | | | | |
1 o=1262w 1| o=1040w ;| o=520w 1l 0=1034w ;| o=514w 1l o=1017w 11 o=s03w ;][] Q=1032w ;| 0Q=529w rT
m Cu 15x1 m Cu 15x1 m Cu 15x1 m Cu 15x1 m Cu 15x1 m Cu 15x1 m Cu 15x1 m Cu 15x1 m Cu 15x1 |
1.06 1.07 1.08 1.10
1 | | I | I I o [
| 1426[W] | | 1196[W] | | 1196[W] | | | | 1227[W] |
476w 1| 476w 476 W 399W | 399 W 399 W 39W | 399 W 399 W 391 W 391 W 391 W 400W | 409 W 409 W
G1.01 G1.02 G1.03 G1.04 G1.05 G1.06 G1.07 G1.08 G1.09 G1.10 G1.11 G1.12 G1.13 G1.14 G1.15
_”._.u I .._.u | “.M_ I .._.H_ “.M_ I 0l | ﬁ.“ | | “.H_ | [ets [ |
Il g=2214w Il g=1915w | q=919w ] g=1832w[!] q=013w Il o=1807w Il o=804aw !| o=1832w || q=938w "
T cuisxl T cuisxt 1| Cuibxi Tl cuisxt |[T] Cui15xi T cuisxl I'T cuisxt T| cuisxt T cuisxi H
| 0.11 0.12 | | 0.13 | | 0.14 | 0.15 | | 016 | | 017 ||
| 20° 20° | | 20° | | 20° | 20° | | 200 | | 200 ||
| 1700[W] a96pw1 | || | 1794[W] | | 1005[W] | | 4s6[w] | I [2242tw7] | soorwy | |
“ 1700 W 496 W Il sesw “ 598 W 598 W \_l “ 503 W 503 W Il 56w - “ 1121 W _l 1121 W “ om0 sow |
T T T =2766 W =4074 W
_..M_ G0.01 | [ Gooz [ )] ] co0 | _..M_ G0.04 | L Goos [ ]| [m] _..M_ G0.06 | | Goo7 [~ T1]] 008 | —&522 [ G009 [1] G010 | || s GO.11
OBIEG "1" o= I. —_— e e — L = .lllH 'IlllllllllL.l H*Q_-l..ln—llIlllllllA'llL.'llllvlllll—l.lllll—vlll.lll—-Illln.lllllll -
Q=29754 W Q=25840 W Q=25840 W _I*I||IIIII..IIIIIIIIIIIII.|IIIIIIIIIIIIIII|.|IIIIIIIIIIIIIII..IIIIIIIIIII.|IIIIIIIIIIIII|.|IIIIIIIIIIIIIIII|
Cu 28x1,2; L=1,0m Cu 28x1,2; L=4,6m Cu 28x1,2; L=4,6m Q=1416 W Q=21387 W Q=18621 W Q=13653 W Q=12715 W
Q=1517 W Cu 15x1 Cu 28x1,2; L=4,7m Cu 28x1,2; L=3,9m Cu 22x1,2; L=2,3m Cu 22x1,2; L=4,7m
Tl Q=17727 W
Q=3914 W Q=22803 W Cu 15x Q=23410 W Q=22803 W Cu 22x1,2; [=2,im
Cu 15x1 Cu 28x1,2; L=2,1m Cu 28x1,2; L=1,0m Cu 28x1,2; L=1,0m
Q=3009 W Q=2430 W
Cu 15x1 Cu 15x1
2.01 @ 2.02 @ 2.03 @ 2.04 @ 2.05
20° automatyczny 20° 20° 20° 20°
651[W] ;w\ Zawdr odpowiefrzajacy | 780IW] A 864[W] A 1325[W] A 1653[W]
651 W q 390 W 390 W (3] 432 W 432 W 3] 1325 W 1653 W (3]
G2.21 G2.22 G2.23 G2.24 G2.25 G2.26 G2.27
] e ] [ [ ]| ex] CZAw
| | | |
1| o=1041w 1l o=822w 1 o=1757wW 1| o=1653W
m Cu 15x1 m Cu 15x1 m Cu 15x1 m Cu 15x1
1.01 | 1.02 | 1.03 | 1.04 | 1.05
20° | 20° | 20° | 20° | 20°
530[W] | 627[W] | 688[W] | 1224[W] | 1546[W]
530 W 314 W 314 W 344 W 344 W 1224 W 1546 W
G1.21 | G1.22 G1.23 G1.24 G1.25 | G1.26 G1.27 |
L_ n _ _ | _|_H.“. _ | 612 | | 6127 | -4
Il o-1885w I'T o-1480w T g=3325w Il To=3199 w
IT cuisxt I'T cuisxi '] cuisxt I Tcui5xi
0.01 | 0.02 0.03 | 0.04 0.05 _ 0.06 0.07 _ 0.08 0.09
20° | 20° 20° | 20° 20° | 20° 200 | | 20° 20°
937[W] | 549[W] 454[W] | 563[W] 648[W] | 620[W] seow] | | 363[W] 200[W]
937 W | 549 W 454 W _ 563 W 648 W | 620 W 360 W | 363 W
T T T T Q=3922 W
] ia Leo17 [ _[}]_]ocots | G0.19 _ ] 6020 | [ o2t [ ]| [ 602 |[m] cos [ | [ [ o0 | —5r5i——

OBIEG "2" P e ——— — llrll.lllrllelllll_lllllllll IllllllA.llllllllr-.lllllllvllllllll\-r > — —— ll.llllllul.lln.ll — llll_vllllllll.
t4 ts %0° 11 S S oo | e | o
I e -4 - -4 A A e e e e e e e
-4 -+ —-—————-—-————————-—-————-+t- - —-——--—-—-—-——-tt+- - - - —-——| - - —-—-——-—-—-—{f————-—|-—-—————ft—-———
e e e e I e e A U

Q=16358 W Q=16358 W Q=3371W Q=12987 W Q=2497 W Q=10490 W Q=5897 W Q=4975 W Q=1053 W
Cu 22x1,2; L=2,7m Cu 22x1,2; L=3,7m Cu 15x1 Cu 22x1,2; L=5,6m Cu 15x1 Cu 18x1; L=6,2m Cu 15x1; L=1,2m Cu 15x1; L=4,7m Cu 15x1; L=2,9m
Q=18540 W Q=4593 W Q=1053 W Q=1053
Cu 28x1,2; L=1,9m Cu 15x1 Cu 15x1; L=1,9m Cu 15x1;
Q=19163 W

Cu 28x1,2; L=3,

im



